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ECONOMICS

Paper : ECO-HC-6026
( Development Economics—II )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :

1x10=10
o 2T R et b T i
(a) Define demography.
wegd HeE |
(b) Give one example of renewable
resource.
SRR 7% GO Trr=ae i |
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Write down two problems that have
been seen in rural credit market.

2T 4 e ¢rd1 e 561 S fara |

Mention the major eras of globalization
in the last 150 years.

QR Seo T2IS [PARR 244 J59261 Sy
gl

Point out two most common deficiencies
involving in governance.

UGG ISR U B B e S e g e

41|

Give the definition of general fertility
rate.

SRS SIIOR TR/ e fiy |

What are the functioﬁs of individual
behaviour?

Fou SR IHER B9

Mention two areas where developed
countries can help developing countries
to protect environmentg] degradaﬁon

Wﬁmﬂ%umﬁm«aﬁm%ﬁ
S CPTF R SR oy L
L ' R S

( Continued )

(S)

3. Answer any four from the following

questions :

o9 PPTRE R I BifeE e fa

(a) Briefly explain the relationship between
nutrition and labour productivity.
A SeeHIeTel S 8 Mo FFCHT LT
qfefl 1 |

(b) Point out the main determinants of
good governance framework.
PP IREAE 37 L0 Semd 9 |

(c) Explain the purpose of the study

(d)

(e)

22A/853

of individual behaviour in social
environment.

ANIGS IR Fog HHI TR FI9 Sgey
[T F90 1

Write a note on financial instability
in a globalized world.

GIERIFS e {8 wkFer e[ e 9t Gr
form 1

What are the consequences of
migration? Explain.

#Eeed ~ifRafs & & 2 amm 911
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(6)

() Explain the interrelationship between
economic activity and climate change.

giAfes I T T CRIET TGS 46
SBEHRECO] 10 1 |

(g What are the causes of gender
inequality in a family?

“{f3e oot forst (IF9R FRIEHE & 2

(h) Explain the inter-linkages between
rural factor markets in developing
countries.

TR (P AT SR IERERT TS 4
SBEHLCANAICET =T 41 |

4. Answer any four from the following

questions : ‘ 10x4=40

wod 2PTRS R CRICeTl B T fira

{a) Examine the major contributions of
agriculture to the process of economic

development.
Ao T e FRY I PR
2[R 471 |
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(b)

(c)

(@

(e)
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Discuss how globalization affects
the commodity trade of developing
countries.

ERIpC] g (R g9 S figre e o)
(PRTIRCR, SICeTo= 41 |

Explain the functioning of credit market
in a rural economy.

oy SRS A9 IHET FRIAS! 007 F11 |

What is migration? What are the factors
that lead to migration?

oEE e & w2 6 & FRPT 70 ASE
W\QIBW 3?7

Critically discuss the demographic
transition theory of population.

GPRIN GRS FBI OGeoT  SICEOA
H2F[¢S HCo=1 1 |

Discuss various measures of land
reforms. How does it affect the

productivity of agrarian society?

oft R RiSH IREPTR ST 9 | a3
JEPTCR FRS T e TIOR84S
(FCIAN ISR (e 2
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(8)

{g) Discuss the factors which influence
individual behaviour in an organization.

FRoO BT TOF ABITE AT 91 FRFTHZ
SCEADAL 41 |

(h) Discuss the terms  governance
in organization and community
governance.

SR P S TR TP @R PR R
S 41 |

(i Explain the connection between income,
mortality, fertility and human capital
accumulation.

o, JPRE, TRN WE A€E FTrREA =GN
NT&q ALCAISCO! AT 47T |

() Explain the decline in the efficiency of
an organization in terms of Hirschman’s
exit, voice and loyalty theory.

R 2®H, T AFE S ©ed sREce
oM O TS fCT 31T “A1B, 17T 3647 |
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